Tipus Erték  [db. [Megegyzes

R1 |EWL.TVO-0,25-27 £10% 2 |1
R2 |EWL MLT -025 - 2K+ 10% - A 2KQ | 1
R3-R4 | ElL MLT -025 3002109, -A 30 |2
IRS-R6 | Ell. MLT-025-47KX10% ~A LK |2
R7 |Ell TVO-0,5-27 *10%, 279 I
R8 | Ell. MLT-0.25- IKX10% =A Ke | 1
RS | Ell. MLT-0255JK* 10%, - A S1Ke | 1
RI0 | Ell. MLT-025 -15K £ 10% -A 15K | 1
R11 | Ell. MLT-025-12 K£10% =~A 12Ke | 1
R12 | EH. MUT-025-4, 7K+ 0% - A L7Ke | 1
RI13 | Ell. TVO-0.25-10 0% 0Q 1
RI4-R15| ENl MLT-025- 1K £10% ~A 1Ke | 2
R® | Ell. VD025 10 £10% 0 1
R17 | EWl. MLT-0,5-100 £ 10%-A 1008 |1
RI8 | Ell. MLT-0,25-100K £ 10°% -4 100KQ | 1
R1 | Ell. MLT-0:25-120 * 10% - A 1200 1
Fa0-R21| Ell. MLT-0,25-10K * 10% = A 0Ke | 2
R22 | Ell. MLT-025-2,2K £10% - A 22Ke | 1
R23 | ElIl MLT-025-300" £ 10% ~A 08 |1
C1 | Kond.MBGO-1-160-10- i, 10pF|
C2 | Kond. EGC -a-440M 30uF | o

J 2 | Rele RESZ-9 | 1
J 3 | Reté RESZ-10 | )
7 4 | Rele RESZ-10 | 1
J 5 | Rele RESZ 9 | 1
J 6 | Relé RESZ-9 | 1
T1-T2 | Tranzisztor MP-404 2
73 | Tranzisztor MP< 40 B 1
T4 | Tranzisztor MP- 104 |
T5-T6| Tranziszstor MP- 414 2
T7 | Tranzisztor MP- {04 N
T8 | Tranzisztor MP- {14 1
T9 | Tranzisztor MP- {01 1
T10 | Tranzisztor pr 26 1

Ti | Tranzisztor MP- 0B 1
E1-E4| Didda D-220- A 4
E5-E6| Didda D-843 2
D1 | Csatlakozo RP- 3~ 16 1




